
Product.: Lang

2

4

5

3

4

5

2001-015

5600-052

8400-138A

I.

II.

2. Seite
M5x6 Hernyócsavar

5135-085A

6536-002A

5131-001B

M5x6 Hernyócsavar

5135-085A

5131-001B

6536-001A

2001-015

K2001 Frankfurt C
1. Seite

Belső használatra !

III.

M5x6 Bkny hernyócsavar
2001-015

M5x8 Sf csavar
2001-017

5011-003A13

1982-019

M8 Alátét
2003-008

M8 Hl anya

M8x25 Hlf csavar
2001-065

2002-007

8

7

3490-002A6

8700-077

M6x16 Hf bk csavar
2001-110

116152-1046A

M6x12 Df csavar
2001-038

12

1

14

9900-249A

III.

II.

I.

9900-382
3. Seite


